St. Thomas Aquinas — Geometry Test-Out Review

For 1-3, use the diagram at the right to answer the following questions.

1. Find AB. Simplify the radical if necessary.
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2. G is the midpoint of CD, find G.
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3. D is the midpoint of AE, find E.

(-, 77) J

4. AisbetweenCandR. CA =3x—6,CR = 8x — 12, AR = 2x + 27. Draw and label the picture.
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5. IT is the angle bisector of 4PIG. m4PIT = 2x + 6, m4PIG = 7x — 15. Draw and label the picture.
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Give the notation for each picture. If there is more than one answer, just give one.
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9. The measure of an angle is 63 more than two times the measure of the complement. Find the measure of

the two angles.
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Name the indicated angle pair and also state the transversal.
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For each problem, name the angle pair, fin d the value of x, and then find the value of the angles.
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Find the value of the variable(s) in each picture. Show work.
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Find the value of the variable(s) in each picture. Show work.
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Given AKCR = ASFQG, find the value of X and Y. c .
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24. BD is an altitude of AABC. 25. BD is a median of AABC.
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Fill in the blanks to complete the proof. \
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26. Given: BA L AD, ED L AD, Cis the midpoint of AD AV = D
Prove: AABC = ADEC S
\
E
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2. Definition of perpendicular lines
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3. 4A = 4D
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Write a two-column proofs.

27. Given: BE = AD, BA 1L AE,DE 1 AE
Prove: 4B = AD
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28. Fillin the blanks, then list the sides from least to greatest.

X= [g ,m2$A=5 , ma0 = (‘ié,mz&S:/?D Sides 7ATD OS %

Find the value of the variable(s) in the pictures. Exact answers only...NO DECIMALS!
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Given AFLY~ACOW, use the picture to answer the following questions.
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31. What is the scale factor? __L

32. may =51 30

33 Fl=_| 2 14

34. ow= 25 . c Ay

=z A, 10
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Find the value of X. If necessary, round answers to the nearest 10,
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Find the indicated values.

39. BD, DF, BF are midsegments 40. BD is a midsegment.
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Perimeter of ABDF = 2— 1 X= 5 ,BD = & , AE = 3 (49

Perimeter of AACE = '\h))

Find the value of variables in each picture. When appropriate, leave answers as simplified radicals or
fractions.
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Find the value of the variables. Round sides to the nearest 100 and angles to the nearest whole degree.
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Find the value of the variables in each picture.

49. Rectangle
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50. Rhombus

53. Parallelogram
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Find the indicated values in each picture.
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61. What is the measure of one exterior angle in a regular 18-gon.

o3 = 20

62. The interior angle of a regular polygon is 140°. Find the number of sides.

4 sides

63. Find the sum of the interior angles in a regular dodecagon.
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64. Fillin the blanks for the regular hexagon. Exact answers only.
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65. Exact answers only. 66. Exact answers only. 67. Exact answers only.
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Shaded area = lﬁ n

Circumference = %q ﬂ&m

Area = 3(1‘4” ,OML

Find the probability of picking a point in the shaded area. Round your answer to the nearest whole percent.
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Fill in the blanks for each figure. Label all of you answers. Exact answers only...no decimals!!
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73. 74.
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75. Write the equation of the circle that has a center of (-7, 4) and the diameter is 12.
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Find the measure of the arc. Then classify that arc as major, minor or semicircle. Fis the center of the
circle.

76. mAB=_{ 95 , NN
77. mBED =245 m(ﬁ;w

78. mEC= | OO Y172l

79. mCED = 2., _\\AI6Y
)

Find the indicated value for each picture. Any segment that appears tangent is tangent. Cis the center of
both circles.
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Find the value of X in each picture. Any segment that appears tangent, is tangent.
81. 82. Segments do not intersect at the center.
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Find the value of the variable(s) in each picture. Any segment that appears tangent, is tangent. When C is
marked, it is the center of the circle.
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